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6.

Max1mum 75 marks
SECTION A — (10 X 2 20 marks)

Answer any TEN_queshons.

~ Define the term correlation.

@L_Opey cremp Qémdamed Ui,

- What are regreéssion co-efficients?

: QgmiGunélen Ga(psaer wiraneu?

Define trend.

. .G-I_J‘rrés@jvciumuugj.

What is an index numbe'r"
@gﬁu&.@ areir GTETED Greimen?

State - Newtons backward formula for

fInterpolatlon

;_F,lg,l_l_aﬂafr L‘ﬂarerrra;@)' @ml_&Q&@a;w affseflan

Gpfrhsme sos. E

What do you mean by statlstlcal quality control" '
qmaﬂuﬂ?mm 50&;&31._@uut7® Ll el a;ﬂm@gw&m?

5‘}0}14-}-1@3 1



10.

What do you mean by time reversal test?
asnmmrr;pgj (Bgrrm ug)gf)] pefilir a;ﬁ]m@g,mm?

A Ift the sum of the squares_ of thé rank differences of
"9 pairs of values is 80 find the correlatlon

coefﬁent between them.

9 Ggmq.asaﬂm Fn.(Dgevsarflar .-_w;;@.s@ (gm)rmsmﬂm &1

oGS wines Sl e AT 80, © areled
Simeus@pslen, Cuwmar o Lan Qgm i) Qaqpssamar
5&@@hﬂq

If bxy=0. 85y byx =0: 89x,0'x 3, caléu'laté
coefficient of correlation. . : :
bxy=0.85y,byx = 089x o-x 3 Graﬂeo @L@p)m

~',Glaisngeunm saEE (D,

If Y pgq,= 505, DPodo = 425 compute Laspeyre s

-index.

';Zm%_mmzm%_ms awm omavLuireir

11.-

@gﬂuﬁl_(l) T eRTEnGRT asmrr&;eﬂ@a; 1 :
Commodity _ Price in Price in 2007
2006 : :
A 90 - 95
B 40 50
c %0 . 110
D 30 35

construct an index numbers for 2007, taking 2006
as base,
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Sipsraniid fleurissemans Qaans&ur@@ 400 pged em. 500
QU @U(HLOMEIILD G]ug;]m gunamﬂm\ﬂmmﬂ&mﬁwm&

a;asvraseﬂ@as
QU(BIDMELD
ECp.em.)
BLIT&Ee 6
erawrenflEans:
(9r58er)
u(BLDTaTLD :
&G m.)
puisefior -
eratrenil & enas:
(puirsder)

200 200-400  400-600
120 145 - 200 -
600-800  800-1000
L2507 150
10 60535/BYB4A/
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12,

13.

QumpL_ser 2006-em 2007-6n eflenev
allemev
A 90 95
B ' 40 50
C 90 110
D 30 35

2006- b Qbéﬁrrml_- SligLiLenL %ana Qa;rrco%r@
2007-gy1d t%g&mm;m' ; @gﬁ]uﬁn;@ GTRTEnaRTE
&t () L. :

Find the control limits for X chart by usmg the
followmg data: -

n=15N =12, X = -1307,2 R=191.5.

X s @uur® IJL_‘QS‘E_ﬂ!DGSH@T a;L_@,\uurr@ Greosm)a;mm
Siparamid efleuyiisener Qsrem(® e By

n=15,N =125 X =1307, 2R =1915
SECTION B — (5 x 5 = 25 marks)
Answer any FIVE questions.

Calculate Karl Pearson’s coefficient of correlation
from the data given helow:

x 2 4 6 8 10

y: 1214 16 18 20
Spsramib  ssedsmer  Glaram(: asrrrrsu I_CI]U_IIT&@ﬂGOT
@L-GDG‘L{ Qepenas sam B l. :

x- 2 4 6.8 10

y: 12 14 16 18 .20
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14.

15.

16.

From the followmg data, write down the equation
of the regression line

- X Y

Arithmetic mean - 60 120
Standard deviation - 3.36 17.24

- Correlation coefﬁc1ent +0.98

Spssmayi aﬁ]ml;rrmasmma; Qemreir@ Qgmiiy CSurra;@
Cam_ig e eT(gI5.

X Y
gl (W& ggmadl - . 60 120
il eflewssd -  3.36  7.24

@l (ney Qagp - +0.98
Explain the importance of time series analysis in
business forecasting. ;
urury  apar  safigseller  smend  &mT
Qgmu@lumbeder WaHwuggeuiams eflarsEs.

Calculate three-ye,érl’y moving average of the
following data: -

Year : 1998 1999 2000 2001 2002

No. of students: 15 18 17 20 23
Ygar : -2003 2004 2005 2006 2007
No.of students: 25 29 33 36 40

4 60535/BYB4A/
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24.

ECY Qar@ssiiul(érar efeurmsmar LwaU@RSS,
areo@ui, umevCen wbHmL  WGagfler  GHUIG

" eras e &eRT (Ll

- Suglien er®  pLuurer(

QurmLs Searey elae  Iare) ellme

X 12 T b A
B 150 .= 7 . 20 <5
c 24 5 20 9
D 5 6 5 14

Estimate the number of persons WBOSe incomes
are between Rs. 400 and Rs.- 500 from the
following figures.

Income : .

Below (Rs.) - 200 200-400 400-600
No. of persons: ,

(Thousand) 120 145 200
Income :

Below (Rs.) 600-800 800-1000

No. of persons:

(Thousand) 250 150
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Awrurrsdler oL Qenuisdr (gulysdld) &Gip
Qasr@H&s UL (HeTeme.

ger®: 1990 1991 1992 1993
@emuid 4 : '

(000’s) 60 72 75 65

@@ : 1994 1995 1996

@eoruid :
© (000s)y 80 8 95

Cuwle Qar@ssiiu’_(Herer MaugrsalaBHs GOOHS
syrafl euide qpeopudar gpa CuITEE (Ba;rn_m\_um
1997- m@mnugmg,um sem&E B,

93. Compute index numbers from the followirig data
" using: Laspeyre’s, paasche’s and fisher’s ideal
formulae.

Base Year - Current year

Commodity Quantity Price Quantity price

A 12 10 12 12
B 15 7 20 5
C 24 5 20 9
D 5 16 5 14
8 60535/BYB4A/
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Spear_  yerefl eflaupmisamens Qaream®  epenn
c_sg;,am@asa;@aaexrrw paE@D syrefew sam® Gy

QU(HLLD: 1998 1999 2000 2001 2002
Lo memTeu T e 6o :
GraTenllGeng: ‘15 18 17 20 23
QU(HLLD: 2003 2004 2005 2006 2007
wremreuisefler : N N
TGN 560 . - 25 29 33 36 40
17. From the data given below calculate 1ndex number
by Flsher s Ideal method
Price in = "Quantity in Price in. Quahty in
basé base year Current  current.year
" year : year
1 2 7 11
2 4 8 12
3 5 9 - 13
4 . 6 10 14

5Cp Qer@ssiul@erer  eleuhsmars @smamh
QagRar GBS G 6T T G0 Gt seréE)([Hs. '
elene JleT6 . efllened T SleTey
SigliueL  SigluemL  BLLILITERIG 6 BLLILITETIg 60
<G 6V <}, 6MTIg 6D '

) .2 7 11
2 4 , 12
3 5 9 13
4 6 10 14
5 . 60535/BYB4A/

CYB4A



18.

19.

The working class cost of living index numbers are

given below for certain years. Interpolate the
missing number:

Year Index No. Year Index No.

1991 320 1994 -280

1992 300 1995 278

1993 2 1996 250
&G GCem®ssiuBerer Ao yawhEsEhsEsTan
aumphans Cewels GOWSL®H eraraamer LiwaLIBSS),
oo Qe Fdemad wapuie eNHULL  eramenent
sam(HLly.

au@pLd GO G erair  eu@pLLd  GDIUIL{ e

1991 320 1994 280
1992 300 - 1995 278
1993 ? 1996 250°

The average number of detectives in 22 sample

Jlots of 2000 rubber belts was found to be 10%.

Obtain the values for central line and control
limits for P-Chart.

22 wrdfl gusseaiar 2000 puum Quelyer grref
Gmpun@seflar eaeamafismns 10% <@, P-uLgden
o geil Ganam(® ogen ewwsd Cam () whmb sLGuir®
erevenevsatien L LIGOL Sanrsd (Hs.
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20.

21.

22.

SECTION C — (3 x 10 = 30 marks)
Answer any THREE questions.

Define correlation. Explain the various types of
correlation.

@L@mm auemrum. @LOneler voGan eumassmaT
afeul. ' '

Calculate the co-efficient of rank correlation from

the-following data:
X: 48 33 40 9 16 16 65 24 16 57
Y: .13 13 24 6 15 4 20 9 6 19

&Cyp  Qar@sslu(Hérer Yerefl el eu T &(@hdE
sreuflens @i Hpe| Qswelmans samrédl(hs. '

X: 48 33 40 9 16 16 65 24 16 57

Y: 13 13 24 6 15 4 20 9 6 19

The following are annual profits in thousands of

. rupees in a certain business:

Year : 1990 1991 1992 1993
Profits :
(in 000’s) 60 72 75 65
Year:- 1994 1995 1996
Profits :
(in 000’s) 80 85 95

Use the method of least squares to fit a straight
line to the above data. Also make an estimate of

* profits in 1997.
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